
OR 333



2 OR333



= ClXl + ‘&x2 +  . . . +  C.X. . . . . . . . . . . (1.1)

adI  -t allxl  + . + a,.x. {6,2,  =} b ,

ad1  -t ad1 + . . + a,.x. (<,  2 = } b,
. . .
. . . . . . . . . . . (1.2)
. . .
. . .

amIx, -t amzx2 + . . . + a,.x. {G,  8, =)  bm

; a,x, (6,  2, = } bj  , i = 1,2, . . . . m
,-I
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10 3 3 2 50
2.

I

1 I$ 1 1 40

1 1 12
;

-
3

30

3 1 1 - 40
4

2 5 1 40

- 3 - 25
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filyq@llQJ  P

= 20x1 + 10x2 + 5x, + 5x,

bKCXhYX@

10x, + 3x,  + ix,  + 2x, & 50

Xl + ix* + Xa + 2x, =G 40

OR 333



= CIX, + GX2 + . . . f C.X.

1
p10,o

WUllOOl?YFl

a,,x, + a12x2  + . . . + a,,x. > b,

al,x, + al,xz + . . . + az,x. >, b,

amIx  + amlx2  + . . . -t  a,.x,  > b,

MJ”, xjCj  = 1, 2, . . . . n) > 0

1 0 OR 333



0.10x, + 0.25x, 2 1

x, + 0.25x, 2 5

100x,  + 120x,  > 600

bba3t XI x2, > 0

OR333 11
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0.2x,  + 0.2x,  + 0.8x, 2 1

2.2x, + 25x, + 0.8x, 3 50

20.5x,  + 2.5x1  + 0.8x, 2 1 0

bbRZ x,(j=1,2,3) 2 0

;a/ ;b,
i=l j=l

OR 333



x,,  + x,~  + . . . + x,. = a,

x2,  + XI2 + . . . + x2.  = a2

xml  + xm2  + . . . + x,,  = a ,

x,,  + x1,  + . . . + x,,  = b,

x,2  + xn + . . . i x,2  = b,
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

x,. + Xl” + . ..’ + x,.  = b.

mt xi, (i = 1, 2, . . . . m; j = 1, 2, . . . . n) 3 0

; xij d ai , i=l,2  ,...,  m
j=1

T xy = bj  , j=1,2  ,...,  n
,=I

1 4 OH333



bwl n 3 5 2

b”U?l ¶I 4 1 6

OR 333



= 3X,,  + 5X,, + 2X,3 + 4xz1  + xz2  + 6xz3

x11  + Xl2  + x13 = 8,~

x21  + x21  + x23  = 12,000

x11  + x21 = fiOf30

x11  + x22 = 7mo

x13  + x23 = 7,ooo

LLAt x,(i=12;  j=l,2,3)  2  0

If3 OR 333



n a 7 9 4 800

II 10 6 12 15 900

t-l 13 14 5 9 600
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OR 333 1 9
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.
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(5)(O)  + 4x*  = 200

200
XI  = - = 50

4

5x,  + (4)(O)  =- 2 0 0

2 0 0
Xl =- = 40

5
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(1) - (2) 5x1 = 50

x1 = ; = 10

x2  = P - &XI.
C2
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600 Wlt3Qi
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a,,x, +  a+xz  = b,

a,,x,  + ar2x2  = h

hy=yos P

= 16x, + 20x,

-L?lfJiCOtlKfl

9x, + 8x, d 360

5x, + 6x,  < 300

lx, + 7x2 d 350

4x, + 8x2 d 320

12x, + 5x, 6 360

bb6lt XI, x2 > 0

32 OR 333



70

12% + 5x, -= 360

60

50

IL /

gnqauz.  (8.36)

4x, + 8x, = 320

P !plyl = (16)(8) + (20)(36)  = 848

OR 333



bSai?oh I .5 9rbP;iPbTji

x,  + XI  + x,3  = moo psi0 XL3 =  8000-x,-x,  2 0

Xl + x21 =6000 VI% x1, = 6ooo-x, 2 0

x1 + x12 =  7ooo l-60  xzz = 7ooo - x* > 0

bkmin  x2>  + xz2  + x23 = 12000 PA6

6ooo - Xl + 7ooo - x2  + x23 = 12ooo M%x,,=x,+x,-loco>,0

(luaam3  x,~  +  xz3  = 7 0 0 0  km.&  x,~  90,1Gi  x2, = x1 +  x2 -  moo  ~h.u&afk)

&IL

P = 3x, + 5x,  + 2(8000  - x,  - x,) + 4(6000  - x,) +

(7000 - x2)  + 6(x, + x1  - 1000)

= 41000 + 3x,  + 8x,

iYaiaabuLludl6~za~oc

%mi1C1~@ao.¶  P

=  41ooO  +  3x,  +  8x,

-hPJdG0415m
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400x,  + 300x,  = 48000

150x,  + 200x,  b 12ooo

400x,  +  300x2 G 4 8 0 0 0

4 0 0 x 1  +  500x1 d 6 0 0 0 0

XI > 4 0

x, 3 2 0

OR 333 3 7



160h x, = 40

400x,  + 500x,  = 6oocm

I x1
0 4 0 8 0 1 2 0 1 5 0

3 8 OR333



x1 + X2 = 300

0.25x,  + 0.40x,  > 90

0.10x,  + 0.06x,  > 21

0.04&  + 0.05x2  < 15

0.08x,  + 0.10x,  d 30

0.10x,  + 0.08x,  d 30

Xl a 0

x2 2 0

.......... (1)

........ ..(2)

........ ..(3)

........ ..(4)

........ ..(5)

........ ..(6)

OR333 39
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a*ki 1 23 42

bvl~& 2 21 50

an$osf? 3 30.5 45.5

m%w?i 4 20 37.5

pl

3lnl~m~Gu  (lJlW/%M) 5 23

9lnl%llJ  (lml/%u) 50 120

OR 333 4 3
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OR 333

Innaim LO 3 5 1

pnaim d 1 4 2

47



(PblhldQ9)

I II

Ml%QJi,  12bQ 1 24 12

Wl~QshLQ 2 12 36

LkQJ%linaLQ 3 36 24

dl~'&hUllQJ

Ml~QGfl'ns

(ml/nsjQs)

I II

14 7

6 18

15 IO

240

336

480
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